
  

MAY 2013 P/ID 28506/PCMF 

Time : Three hours Maximum : 100 marks 

PART A — (10 × 2 = 20 marks)  

Answer ALL questions. 

All questions carry equal marks. 

Each answer should not exceed 50 words. 

1. What do you mean by cost accounting? 

 AhUPÂø» PnUQ¯À GßÓõÀ GßÚ? 

2. Write the cost centre. 

 AhUPÂø» ø©¯® GÊxP. 

3. What is Abnormal gain? 

 A\õuõµn C»õ£® GßÓõÀ GßÚ? 

4. What is standard costs? 

 uµa ö\»ÄPÒ GßÓõÀ GßÚ? 

5. What is meant by equivalent production? 

 \©©v¨¦ EØ£zv GßÓõÀ GßÚ? 

6. List out any two objectives of inter-process profit. 

 £i•øÓPÎøh÷¯ C»õ£zvß Cµsk ÷|õUP[PÒ GÊxP. 

7. Define – fund flow statement. 

 {v Jmh AÔUøP & Áøµ¯Ö. 
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8. What is funds? 

 {v GßÓõÀ GßÚ? 

9. What are the objectives of cash flow statement? 

 öµõUP Jmh AÔUøP°ß ÷|õUP[PhÍ ¯õøÁ? 

10. What are the objectives of budget? 

 vmh¨£mi¯¼ß ÷|õUP[PÒ ¯õøÁ? 

PART B — (5 × 6 = 30 marks) 

Answer ALL questions. 

All questions carry equal marks. 

Each answer should not exceed 250 words. 

11. (a) 100 units are introduced into process A at a cost of  

Rs. 9,600 and an expenditure of Rs. 4,800 is incurred. From 

past experience it is ascertained that wastage normally 

arises to the extent of 15% of units introduced. The 

wastage is having a scrap value of Rs. 10 per unit. The 

actual output of process A is 90 units transferred to process 

B. Prepare process A a/c and Abnormal gain a/c. 

  £i{ø» A&°À 100 A»SPÒ Auß AhUPÂø» & 9,600 

©ØÖ® ö\»ÄPÒ & ¹. 4,800. AÝ£Ázvß Ai¨£øh°À 

AÔ•P¨£kzu¨£mh A»QÀ 15% \õuõµn |mh®. 

PÈÄ¨ö£õ¸Ò ÂØ£øÚ A»QØS ¹. 10 ‘A’ & °¼¸¢x B &US 

©õØÓ® ö\´¯¨£mhx 90 A»SPÒ. £i{ø» ©ØÖ® A£›ªu 

|mh PnUS u¯õ›UP.  

Or 

 (b) What are the advantages of cost reduction? 

  AhUPÂø»U SøÓ¨¤ß |ßø©PÒ ¯õøÁ? 
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12. (a) Calculate gross profit ratio from the following figures: 

 Rs. 

Sales 10,00,000 

Sales return 1,00,000 

Opening stock 2,00,000 

Purchase 6,00,000 

Purchase return 1,50,000 

Closing stock 65,000 

  R÷Ç öPõkUP¨£mkÒÍ Â£µ[PøÍ öPõsk ö©õzu C»õ£ 

ÂQuzøu PnUQkP.  

 ¹. 

ÂØ£øÚ 10,00,000 

ÂØ£øÚ v¸¨£® 1,00,000 

öuõhUP \µUQ¸¨¦ 2,00,000 

öPõÒ•uÀ  6,00,000 

öPõÒ•uÀ v¸¨£® 1,50,000 

CÖvU \µUQ¸¨¦ 65,000 

Or 

 (b) What are advantages of cash flow statement. 

  öµõUP Jmh AÔUøP°ß |ßø©PøÍ ¯õøÁ? 

13. (a) From the following particulars: 

  Calculate (i) Material price variance (ii) Material usage 

variance material purchased – 3000 kgs at Rs. 6 per kg std 

quantity of material fixed for one tone of finished product – 

25 kgs at Rs. 4 per kg. 

  Opg – stock of material – Nil 

  Clg – stock of material – 500 kgs 

  Actual output during the period – 80 tonnes. 
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  RÌUPõq® ö\´v°¼¸¢x PõsP. 

  (i)  ‰»¨ö£õ¸Ò AhUPÂ»UP® 

  (ii) ‰»¨ö£õ¸Ò £¯ß£õk Â»UP® 

  ‰»¨ö£õ¸Ò öPõÒ•uÀ & 3000 Q÷»õQµõ® J¸ 
Q÷»õ Qµõ® ¹. 6 

  1 hß •iÄ ö£Ó ÷Ási¯ ‰»¨ö£õ¸Ò & 25 Q÷»õQµõ® J¸ 
  Q÷»õQµõ® ¹. 4 

  öuõhUP \µUS (‰»¨ö£õ¸Ò) & CÀø» 

  CÖv \µUS ‰»¨ö£õ¸Ò & 500 Q÷»õQµõ® 

  EØ£zv & 80 hßPÒ 

Or 

 (b) What are the objectives of Budgeting? 

  vmhzvß ÷|õUP[PÒ ¯õøÁ? 

14. (a) Distinguish between cash flow and fund flow statement. 

  öµõUP¨ö£õÈÄ AÔUøPUS®, {v¨ ö£õÈÄ AÔUøPUS® 
EÒÍ ÷ÁÖ£õkPÒ ¯õøÁ? 

Or 

 (b) From the following information of Sakthi and co. Calculate 

the P/V ratio, BEP, and margin of safety. 

  Sales Rs. 2,00,000 

  Variable costs Rs. 1,20,000 

  Fixed cost Rs. 50,000 

  \Uv Asm ÷Põ. Âß ¤ßÁ¸® Â£µ[PÎ¼¸¢x P/V ÂQu®, 
BEP ©ØÖ® £õxPõ¨¦ £Sv BQ¯Ú PnUQkP. 

  ÂØ£øÚ ¹. 2,00,000 

  ©õÖ£k® ö\»Ä ¹. 1,20,000 

  {ø»¯õÚ ö\»Ä ¹. 50,000. 

15. (a) What are the merits of marginal costing? 

  £õxPõ¨¦ Âø»°ß |ßø©PÒ ¯õøÁ? 

Or 

 (b) Current ratio 2.5, Working Capital Rs. 63,000. Calculate 

the amount of current assets and current liabilities.  

  |øh•øÓ ÂQu® 2.5 

  |øh•øÓ ‰»uÚ® ¹. 63,000 

  |øh•øÓ ö\õzxUPøÍ²® , |øh•øÓ ö£õÖ¨¦UPøÍ²® 
PnUQkP. 
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PART C — (5 × 10 = 50 marks) 

Answer ALL questions. 

All questions carry equal marks. 

Each answer should not exceed 500 words. 

16. (a) From the following details prepare statement of 

proprietary funds: 

  Stock velocity – 6 

  Capital turnover ratio – 2 

  Fixed assets turnover ratio – 4 

  G/P turnover ratio – 20% 

  Debtors velocity – 2 months 

  Creditors velocity – 73 days 

  The gross profit was Rs. 60,000 

  Reserve and surplus amount to Rs. 20,000 

  Closing stock was Rs. 5000 in excess of opening stock. 

  RÌUPsh Â£µ[PÎ¼¸¢x E›ø©¯õÍº {v AÔUøP 
JßÔøÚ u¯õ›UPÄ®. 

  \µUQß ÷ÁP® – 6 

  •uÀ _ÇØ] ÂQu® – 2 

  {ø»a ö\õzx _ÇØ] ÂQu® – 4 

  ö©õzu »õ£ _ÇØ] ÂQu® – 20% 

  PhÚõÎPÒ ÷ÁP® – 2 ©õu[PÒ 

  PhÜ¢÷uõº ÷ÁP® – 73 |õmPÒ 

  ö©õzu C»õ£® ¹. 60,000 JxUS® E£›²® ¹. 20,000 
CÖvU\µUS Bµ®£ \µUøP Âh ¹. 5,000 Tku»õS®. 

Or 

 (b) Explain the different methods of costing. 

  AhUPªh¼ß £À÷ÁÖ •øÓPøÍ ÂÍUSP. 
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17. (a) Balance sheets of a partnership firm on 1.1.2001 and 

31.12.2001 were as follows: 

Balance sheets 

Liabilities  1.1.2001

Rs. 

 31.12.2001 

Rs. 

 Assets  1.1.2001 

Rs. 

 31.12.2001 

Rs. 

Creditors  40,000 44,000  Cash  10,000 7,000 

Mrs A’s loan  25,000 -  Drs  30,000 50,000 

Loan from Bank  40,000 50,000  Stock  35,000 25,000 

Capital  1,25,000 1,53,000  Machinery  80,000 55,000 

     Land  40,000 50,000 

     Building  35,000 60,000 

  2,30,000 2,47,000    2,30,000 2,47,000 

  During the year a machine costing Rs. 10,000 (accumulated 

depreciation Rs. 3000) was sold for Rs. 5,000. The 

provisions for depreciation against machinery as on 

1.1.2001 was Rs. 25,000 and on 31.12.2001 Rs. 40,000. Net 

profit for the year 2001 amounted to Rs. 45,000. You are 

required to prepare cash flow statement. 

  J¸ Tmhõsø© {ÖÁÚzvß C¸¨¦{ø»U SÔ¨¦PÒ 
¤ßÁ¸©õÖ 

ö£õÖ¨¦PÒ  1.1.2001
¹. 

 31.12.2001
¹. 

 ö\õzxUPÒ  1.1.2001
¹. 

 31.12.2001
¹. 

PhÜ¢÷uõº  40,000  44,000  öµõUP®  10,000  7,000 

v¸©v ‘A’ °ß Phß  25,000  -&  PhÚõÎPÒ  30,000  50,000 

Á[QUPhß  40,000  50,000  \µUQ¸¨¦  35,000  25,000 

•uÀ  1,25,000  1,53,000  C¯¢vµ®  80,000  55,000 

      {»®  40,000  50,000 

      Pmih®  35,000  60,000 

  2,30,000  2,47,000    2,30,000  2,47,000 
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  |h¨¦ BsiÀ ¹. 10,000 AhUPÂø»²ÒÍ C¯¢vµ® 

(÷\º¢xÒÍ ÷u´©õÚ® ¹, 3000) ¹. 5000US ÂØP¨£mhx. 

÷u´©õÚzvØPõÚ JxURk 1.1.2001 À ¹. 25,000® 

31.12.2001&À ¹. 40,000 BPÄ® C¸¢ux. 2001&® 

BsiØPõÚ {Pµ C»õ£® ¹. 45,000 öµõUP Jmh AÔUøPø¯ 

u¯õº ö\´¯Ä®. 

Or 

 (b) Briefly write the objectives of cost accounting. 

  AhUPÂø»U PnUQ¯¼ß ÷|õUP[PøÍ _¸UP©õP GÊxP.  

18. (a) Sales and profit during two years over as follows: 

 Sales Profit 

2001 1,40,000 15,000 

2002 1,60,000 20,000 

  Calculate (i) P/V ration (ii) Sales required to earn a profit 

of Rs. 40,000 (iii) Profit when sales are Rs. 1,20,000. 

  ÂØ£øÚ ©ØÖ® C»õ£® C¸ Á¸h[PÎÀ J¸ {ÖÁÚ® 

Dmi¯x 

 ÂØ£øÚ C»õ£® 

2001 1,40,000 15,000 

2002 1,60,000 20,000 

  (i) C»õ£® £›©õn ÂQu® (ii) ¹, 40,000 C»õ£® Dmh 

÷uøÁ¯õÚ ÂØ£øÚ (iii) ÂØ£øÚ ¹. 1,20,000 GßÓõÀ 

•u¼¯ÁØøÓU PnUQkP. 

Or 

 (b) Explain the different types of budget. 

  vmhzvß £À÷ÁÖ ÁøPPøÍ ÂÍUSP. 
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19. (a) Calculate material cost variance material price variance, 

material usage variance from the following data. 

Material Std qty 

kgs 

Std price 

(Rs.) 

Actual qty 

(kg) 

Actual price 

(Rs.) 

X 20 5 24 4.00 

Y 16 4 14 4.50 

Z 12 3 10 3.25 

 48  48  

  ¤ßÁ¸® Â£µ[PÎ¼¸¢x ö£õ¸Ò AhUP ©õÖ£õmiøÚ²®, 
AhUP £¯ß£õmiøÚ²®, ö£õ¸Ò Âø» ©õÖ£õmiøÚ²® 
PnUQkP. 

 {ø»¯õÚx Esø©¯õÚx 

ö£õ¸Ò AÍÄ Âø» AÍÄ Âø» 

X 20 5 24 4.00 

Y 16 4 14 4.50 

Z 12 3 10 3.25 

 48  48  

Or 

 (b) What is meant by JIT approach? State the benefits of such 

approach. 

  SÔ¨¤mh ÷|µ AqS•øÓ GßÓõÀ GßÚ? Auß 
|ßø©PøÍU SÔ¨¤kP. 

20. (a) Draw up a flexible budget for overhead expenses on the 

basis of the following data and determine the overhead 

rates at 70%, 80% and 90% plant capacity. 

 Capacity Levels 

 70% 80% 

(Rs) 

90% 

Variable overheads:    

Indirect labour - 12,000 - 

Indirect material - 4,000 - 
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 Capacity Levels 

 70% 80% 

(Rs) 

90% 

Semi-variable overheads:    

Power (30% fixed) - 20,000 - 

Repairs (60% fixed) - 2,000 - 

Fixed overheads:    

Depreciation - 11,000 - 

Insurance - 3,000 - 

Salaries - 10,000 - 

Total overheads - 62,000 - 

Estimated labour hours - 1,24,000 

(hours) 

- 

  ¤ßÁ¸® ÂÁµ[PÎß Ai¨£øh°À J¸ ö|QÌÄ 

©v¨¥mhÔUøP u¯õ›zx ö£õÔ°ß 70%, 80% ©ØÖ® 90% 

ö\¯À {ø»PÎÀ ÷©Øö\»Ä «m¦ Ãu® PõsP.   

 ö\¯À{ø»PÒ 

 70% 80% 

(Rs) 

90% 

©õÖ® ÷©Øö\»ÄPÒ:    

©øÓ•P EøÇ¨¦ - 12,000 - 

©øÓ•P ‰»¨ö£õ¸Ò - 4,000 - 

£Sv ©õÖ® ÷©Øö\»ÄPÒ    

\Uv (30% {ø»¯õÚx) - 20,000 - 

£Êx£õº¨¦ (60% {ø»¯õÚx) - 2,000 - 
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 ö\¯À{ø»PÒ 

 70% 80% 

(Rs) 

90% 

{ø»¯õÚ ÷©Øö\»ÄPÒ:    

÷u´©õÚ® - 11,000 - 

Põ¨¥k - 3,000 - 

\®£Í® - 10,000 - 

ö©õzu ÷©Øö\»ÄPÒ - 62,000 - 

EøÇ¨¦ ©oPÒ ©v¨¥k - 1,24,000 

(©oPÒ) 

- 

Or 

 (b) Discuss the scope of management accounting. 

  ÷©»õsø© PnUQ¯¼ß ÷|õUöPÀø»ø¯  ÂÁ›. 

——————— 
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